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The outcome is: to recognize the part of speech of the given words correctly.

- Choose the correct answer:

1. The base form of "pollution" is:

a. polluted b. pollute ¢ pollut
2. The noun form of the word "transport" is:

a. transportation  b. transported ¢ transportaion
3. The adjective form of the word "insert"is:

a. insert b. insertion ¢. inserted

B. Choose the correct answer to complete the sentences correctly.

1. We made a resolution 10 increase =-----==s==aeeeeemmccmmaaan,
A) produce B) production

2. =emememescmmcnaceanaeoo- the eggs with a little flour and heat the mixture gently.
A)Combine  B) Combined

3. We couldn’t swim in the --- water.
A) polluted B) pollution

C. Decide if the sentences are true or false:

1. Using the word inserted in this sentence is correct.
"Treatment may include the inserted of a tube in his ear."

A) true B) false

2. The adjective form of " produce" is produced.

A) true B) false

3. knowing the meaning of the base form can't help you to figure out the meanings of related nouns

and adjectives.

A) true B) false



